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1 HEB <6A1H(X)>|% 2 H B <6A2HH)>|% 3 H H <6H3H(A)>
(5 v ¥ 5 )
1 1000 & 7F8100mH  (2#8) 1 10:00 8¥100m  (2#) 1 1000 8FE110mH  (2#f)
2 1015 110mH % (83—2+2)[2 10:10 & 800m % (3—2+2)|2 1020 % 100mH % (2—3+2)
3 1040 400m ¥ (3—2+2)|3 10:25 800m ¥ (3—2+2)[3 1040 200m ¥ (3—2+2)
4 11:00 & 400m ¥ (3—2+2)| 4 1040 & (%E)800m ik 4 11:00 % 200m ¥ (3—2+2)
5 11:30 1500m % (2—6) 5 10:45 ()800m ik 5 11:30 & 3000m 3k
6 11:50 & 1500m ¥ (2—6) 6 11:00 & 400mH ¥ (3—2+2)| 6 12:00 & 100mH &
7 1210  4x100mR ¥ (3—2+4+2)|7 11:15 400mH % (3—2+2)| 7 12:20 200m iR
8 1230 &£ 4X100mR % (83—2+2)|8 11:35  (F)5000m iR 8 12:30 & 200m &
9 1250 & 5000mW ik 9 1210 3000mSC % (2—6)% |9 1250 5000m 3k
10 13:50 110mH & 10 12:10  (%®)3000mSC R ¥ 10 1410 8F&1500m  (14)
11 1410 400m 11 1240 &  (5E)100m R 11 14:30 & 4x400mR &
12 1420 & 400m 3R 12 12:45 ()100m & 12 1440 4 X400mR #
13 14:50 1500m ik 13 1250 k& 100m % (83—2+2)
14 1510 k& 1500m ik 14 13.05 100m % (8—2+2)
15 15:20 & 7#200m  (2#f) 15 13220 & (F)400m R
16 15:30 5000mW ;R 16 13:25 (FE)400m &
17 16:20 4x100mR # 17 1340 & 400mH R
18 16:30 & 4x 100mR R 18 13:50 400mH &
19 1400 & 800m &
20 14:05 800m iR
21 1415 & 100m R
22 14:20 100m R
23 14:25 (E)200m R
24 14:30 ()1500m iR
25 1440 & (FF)3000m iR
26 15:10 3000mSC &
27 1530 & 4%x400mR ¥ (3—2+2)
28 16:00 4x400mR % (3—2+2)
29 16:30 & 7fE800m (248)
30 16:50 8f8400m (248)
[ Bk B 5B &%)
1 10:00 EMEB R 1 10:00 () =ExBk 1 10:00 % =ZEREk R
2 10:00 HEEbk R 2 1000 % EEbk R 2 12:00 siEEm= Bk
3 11.00 & 7fEESH 3 10:30 & EEBk * 3 12:30 SRRk R
4 1330 & ENEEE R 4 11:20 siaEmEEk
5 11:20 (%) EMEBE iR
6 13:00 & 7FEEMEB
7 14:00 EEBE R X
8 14:00 () EEBE R X
[ & T & 85 & ]
1 1000 & /\ov—4% R 1 10:00 MR R X 1 1000 & fafLig R
2 12:00 NI R 2 10:00 () A% R % 2 1040 8FEOY
3 1320 & 7ERAEK 3 1250 & PYIE R 3 12:30 PYE R
4 1450 % M R 4 13.00 sfEfaN 1%
5 1430 & 7F@PYE
6 15:00 fahix R X
7 15:00 () fahix R X




